Assembly Instructions

Required Tools:

- Hammer

- Cordless Drill

- #2 Square Drive bit

- 7/16"™ Wrench or Socket
- Tape Measure

Hardware:

- (8) 1/4" x 2" Bolts

- (8) 1/4” Flange Nuts
- (12) 2 1/2" Screws

- (4) 2" Screws

- (4) 1 1/4” Screws

Step 1 Step 2

Lay table (A) upside down on a soft surface and attach Position leg supports (C) and center cross support with
4 legs (B) on outside of cleats where shown with (8) 2" umbrella hole (D) as shown and fasten with (4) 2 1/2”
bolts and nuts. NOTE: make sure countersink holes are screws through predrilled holes provided.

on outside of legs for step 3.

WILDRIDGE

PURVEY( F QUALITY POLY FURNITURE

www.wildridge.com

330-893-4212
\. © 2017 J




Assembly Instructions

Step 3 Step 4

Now position the assembly where shown in between Fasten brace to inside of leg where shown with a 2"
legs and fasten with (8) 2 1/2" screws through pre- screw and a 1 1/4” screw from inside through hole in
drilled holes measuring 11” from the bottom of leg to angle iron into other end of brace. Repeat other 3 sides.
assembly.

Complete

WILDRIDGE

LITY POLY FURNITURE

www.wildridge.com
330'893'4212 © 2017 )




